
Math 43 Quiz 6 Version 1

Mon Nov 25,2019

SCORE: / 30 POINTS

NAME YOU ASKED TO BE CALLED IN CLASS:

You begin your first job, and taking the advice of your math instructor, you start saving for retirement immediately. SCORE: _ / 4 PTS

Your fnst month, you deposit $97 into your account. Each month after that, you deposit $8 more than you deposited the previous month.

You leave the job the day before your 3'd anniversary. How much money did you deposit into the retirement account altogether ?

11 + tD5+ t13+
\---, \_,
+J vX

p,g1t'Tf+r,te"^fi* 5"*1.cffi5 3 ya+pS, = V-ytorrTr.IS
d=8

= sr,sa=O

Find the 6'h termof the sequence defined recursively by a, =1, oz = -1, on*z = flan+t -2an for n > I . SCORE: 

- 

14 PTS

n' I ' Q3. lq, -}fr"t = tGl). 2(l\ 1-3 D
n--2 1 G.4 -- 2a3-2A- =

fi'3: As = 7o.r-)4, =

)(D->U)=-46t
zLq>e?r=+O

n"+' ab= *q-7a.1 = +Uq2eD:\bO

9

Find the value of f {-t)*' {f '
k=6

= ttJrr'-
SCORE: /5PTS

* Crf G'-3 I) , br Jtq'- 4 1 )
- Lzt-t) + Uq-L> - Laq-6) +(Kt-x\
O D OO>-75 P41 -58*57

= -I , O

. No notes nor calculators vrith E, I, nC., text storage, graphing or programrning allowed
Show proper precalculus-level work
Simplify all answers; if using a calculator, round final :lnswers to 4 decimal places
If an arithmetic or geometric sequence or series fornrula can be used to solve a problem,

must show to use of that forrnula
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SCORE: i 4PTSFind the sum ofthe first 20 terms ofthe *tr* |*f *#*l + "'.

t- +-"#=-2 *{zrrt-*frese8,€:b Sr*dtWWU
+--** tr:? =*.8 L--fr-O io (+-3E; G
t7 b !? t> 

= loe#)
| - 9,-= r2it = -Eo 

= tA/**y, - ->oE
t-9
L t4- =)bq>,-ry;

Consider the geometric sequence with a, = -32 and ao: 108 .

Find the fonnula for a,

A^ = 4^rT,'-:'

A4= &,f'

SCORE: 

-/ 

6 PTS

lal

tbl

(n-3)l
Simnf ifv \'- - / ' . NOTE: Your final answer can be in faelorcd-toIm.-....r._.J (n _ 6)!

/3PTS

* (n-iY,,'+)G-5\
@

(n-3X--'{)L',-PYn-O J

+t&1ag>?rk*25 36 49 64 81 100
Write :-:i- 

- 
+ - --+ : : - - : usingsigmanotation.t92 96 48 24 12 6

XY+;ixHE '*:'\S*B*e Grz4qDED By v€

+ Fz)-,(.*4)-jD-_L>
tor l9Z

/4PTS

t
Zc\)"'t-l

Gnqf c,.,1 + (o"J-
@;T 

c>rl#@

(An- _zz(-*-y 
O

= -+ (t- L-*)1 )L*\-
J-
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